1)

2)

(

U-TYPE

20

Q = 1/360% Cx Ix A

(0.85
(20
(ha)

Koland

2-2

10

) mm/hr

- 20x 20 ~ 40x 45(cm)




PVC

: 250 m/m ~ 400 m/m

4mx 6m,
2.0m

30

20 ~ 30%



U-TYPE BOX-TYPE U-TYPE

| L1 | L2

[ I

A

S U-TYPE BOX-TYPE U-TYPE 23.5m
4% <
| | |
50m 150m 100m 150m 50m

A =235 x 200 = 4700 = 0.47ha
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= (t) + (t2)

() : 7
(t2)
L 1
th= — x
V 60 )
L = (m) = L1 + L2 = 200 + 50 = 250m
V = Manning (m/sec)
A _
- 25cm
20cm
25cm
U
V=1/nx R”x 1
n = 0.015
(A)= 0.25% 0.20 = 0.05
(P) =0.25+ (0.20x 2) = 0.65m
(R) =A<+ P=0.05+ 0.65=0.077m

L 1
= — x —
Ty g0 ¢ )

250 1
= X =
2.413 60 1.73 2
=7+2=09

2)
| = 6777/(t + 32) = 6777 / ( 9 + 32) = 165 m/hr




= 0.00278 x 0.85x 165%x 0.47 = 0.183 /sec

Q( ) =2x0.183 = 0.366 /sec 3. U

- : 0.25mx 0.25m
- 4.0%

- (A)= 0.25x 0.20 = 0.05

- (P) = 0.25 + (0.20x 2) = 0.65m
- (R) =A /P =0.077m
V - 1/n x R2/3 I 1/2
V = 1/0.015 x  0.0777°x 0.04 * = 2.413 m/sec
Q=Ax V
= 0.05 x 2.413 = 0.121 m*/sec > Q1 = 0.092 m/sec 0.K
- - P 350 m/m
- 2 2.0 %
V - l/n x R2/3x I 1/2

1/2

1/0.013 x 0.08757° x 0.02 “? = 2.144 m/sec



Q:AX \V
Q= 0.096 x 2.144 = 0

Q = 1/360x Cx Ix A
- Q=30 x 21.96 m/min
- = Bx Hx L=
- Q=658.8 x 0.3 =197

- = Bx Hx L=

205 m*/sec > Q1( )= 0.183  /sec

0.183 x 2 = 0.366 m/sec = 21.96 m/min

= 658.8 m*/30min
6.0x 4x 28 = 672m° > 658.8m

3

.64 m*/30min

6.0x 4x 8.5 = 204 m® > 197.64m°

0.K

0.K

0.K



